PLYMOUTH YARN® F426

DESIGN y STUDIO
FREE WITH YARN PURCHASE

ENCORE WORSTED
Ribbed Headband

Approx. Measurements; 5” wide, 21” long
Materials:

Encore Tweed: 1—100G balls, color W005 Tan
Gauge: 5 sts, 7 rows= 1" in st st on size 8 needles,
7 sts= 17 in 1x1 rib on size 6 needles.

Needles: Size 6 straight knitting needles, button.

Cast on 15 sts.

Rib Row 1 (RS): slip 1, *p1, k1; rep from * to end.

Rib Row 2 (WS): slip 1, *k1, p1; rep from * to end.
Repeat last 2 rows twice more.

Buttonhole Row (RS): slip 1, (p1, k1)3x, yo, k2tog, (p1,
k1)3x.

Work Rib Row 2, 1, 2, 1, 2 again.

Increase Row (RS): *kfb, pfb; rep from * across to last
st, kfb. 30 sts.

Next 3 Rows: knit the knits and purl the purls, slipping
the first st of row.

Increase Row (RS): slip 1, k1, m1 knit wise, k1, *p2,
k2; rep from * to last 5 sts, p2, k1, m1 knit wise, k2.
Next 3 Rows: knit the knits and purl the purls, slipping
the first st of row.

Increase Row: slip 1, k1, m1 purl wise, *k2, p2; rep
from * to last 4 sts, k2, m1 purl wise, k2.

Next 3 Rows: knit the knits and purl the purls, slipping
the first st of row.

Increase Row: slip 1, k1, m1 purl wise, pl1, *k2, p2; rep
from * to last 5 sts, k2, p1, ml purl wise, k2.

36 sts.

Work in established rib, slipping the first stitch of every
row, for 14” more, end having worked a WS Row.

Decrease Row (RS): slip 1, ssk, rib to last 3 sts, k2tog, k1.

Next 3 Rows: knit the knit and purl the purls, slipping the first st of row.

Repeat last 4 rows until there are 30 sts.

Work 3 more rows in established rib, slipping the first st of each row.

Decrease Row (RS): *k2tog, p2tog; rep from * 15 sts

Work Rib Row 1 and 2, starting with Rib Row 2, for 10 rows. Bind off in ribbing.

Block to measurements. Sew a button on the end of the headband, opposite of the buttonhole.
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ABBREVIATIONS: dec = decrease, inc = increase, k = knit, m= marker, psso = pass slip stitch over, pm= place marker, p = purl,
RS= right side, sl = slip, SSK = slip 1 st as if to knit, slip a second st as if to knit, knit them together through the back loop, st(s) =
stitch(es), st st = stockinette st, tbl = through back loop, tog = together, WS = Wrong Side, yo = yarn over, wyif = with yarn in front,
wyib = with yarn in back.



